Interactions Between Organisms – Quiz #3
Standard/element covered:

S7L4: Students will examine the dependence of organisms on one another and their environments.

d. Categorize relationships between organisms that are competitive or mutually beneficial.
Answer the following questions by bubbling in the correct answer on your answer document.
1. Two populations with limited resources experience ____________________. 

A. predation

B. parasitism

C. competition

D. commensalism

2. People can swallow the eggs of tapeworms in unclean water or food. Tapeworms can live inside the digestive system of humans. There they grow and feed off the food the person eats. As a result, the person does not receive proper nourishment and becomes ill. What kind of relationship exists between humans and tapeworms?
A. predation
B. parasitism
C. mutualism
D. competition
3. A plant called the bullhorn acacia has swollen thorns with hollow spaces inside. A certain species of ant lays eggs inside these thorns. The ants feed from the nectar of the acacia without harming it. The ants protect the acacia from insects that want to eat its leaves or bark. What type of relationship exists between the plant and the ants? 

A. mimicry
B. predation
C. mutualism
D. parasitism
4. Lichens consist of fungus and alga. The fungus provides a structure on which the alga can grow. The alga produces sugar that the fungus can use. What type of relationship exists between these two organisms?
A. predation
B. mutualism
C. parasitism
D. competition












5. Spanish moss grows on the branches of oak trees. The moss benefits from being up high and the tree is neither helped nor harmed. What type of relationship exists between these organisms?
A. parasitism
B. mutualism
C. competition
D. commensalism
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6. The word symbiosis has a Greek origin. What is the MOST LIKELY translation of the word in Greek?
A. hiding
B. building
C. making food
D. living together
7. Many people hang mistletoe over doorways during winter holidays. Mistletoe is a plant that feeds on the branches of oak trees. In so doing, it takes away from the nourishment of the tree. What type of relationship exists between oak trees and mistletoe? 

A. predation
B. parasitism
C. mutualism
D. competition
8. The clownfish lives among the tentacles of tropical sea anemones. The stinging tentacles of the anemone protect the clownfish from predators. The mucus on the fish protects it from the tentacles. In turn, the anemone is provided food from the predators that approach the anemone to eat the clownfish. What type of relationship does this example describe?
A. parasitism
B. mutualism
C. competition
D. commensalism
9. A tick lives on the skin of an animal, such as a deer. The tick obtains nourishment from the blood of the animal. What type of relationship exists between the tick and the deer?
A. parasitism
B. mutualism
C. competition
D. commensalism
10. Large reef fish have a mutualistic relationship with cleaner fish. This means that as a result of the relationship ___________________.
A. one fish is hurt
B. one fish benefits
C. both fish benefit
D. neither fish benefits
11. A scientist is studying the symbiotic relationship between two animals. What statement about this study is true?
A. Special care must be taken with animals used in scientific research.
B. Animals change over time so they cannot be used for scientific studies.
C. People like animals so the results of their studies will always be popular.
D. Animals are easily replaced and therefore make useful subjects for study.
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12. In your backyard, you notice the weeds have overgrown the flower garden your parents had put together. What is this an example of? . 

A. mutualism
B. scavenger
C. decomposer
D. dominate species
13. What is one adaptation a predator MUST have in order to survive? 
A. Predators must be able to hear their prey.
B. Predators must be able to smell their prey.
C. Predators must be able to catch their prey.
D. Predators must be able to predict where their prey will hide.
14. Which description below is NOT an example of an adaptation that would help a predator catch his prey?
A. A hyena that comes across a dead zebra and has a feast

B. A cheetah running quickly to catch prey that is running away
C. A lion using his long, thick claws to latch onto an elephant as it tries to escape
D. A spider camouflaging itself with its environment so it is not spotted by the prey
15. Which of the following is an example of an adaptation a prey would use to warn its predators that it is poisonous?
A. Long teeth
B. Large scales
C. Hairy eyelids
D. Bright coloring
16. When one organism copies certain features of another organism for the purpose of tricking its predators, this is known as __________________.
A. minime
B. mimicry
C. mimicrust
D. minimizing
17. Due to the fact that resources are in limited supply in the environment, their use by one individual or population _____________ the amount available to other organisms.
A. steadies
B. increases
C. decreases
D. does not change
18. Which interaction between species is most responsible for affecting the amount of environmental supplies available to any given species/organism? 
A. competition
B. symbiotic relationships
C. predator – prey relationships
D. interactions between species do not affect the amount of environmental supplies available to a species/organism
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19. Bees feed on the nectar produced in flowers. As they feed, pollen in the flower sticks to the bees. When a bee moves on to feed at another flower, some of the pollen is carried with it. Flowers are then able to reproduce. What type of relationship is this an example of?
A. parasitism

B. mutualism

C. competition

D. commensalism

20. Barnacles attach to whales for a place to live and a type of transportation. The whale is neither helped nor harmed by the barnacles. What type of relationship is this an example of?
A. parasitism

B. mutualism

C. competition

D. commensalism

The End (
